fe] (@ %144

Efr%
2023-2024F FEF—FHIHAR =,

Zsas

]
I%?—BJB

(TENERED) AR

(BR8N, ZEREATA)12097¢H)

- IR i 21
1. FEEREe, CHNAEREEE, B S8 (ETRY)

HXERIE T,

(o]
[1]
[2]
[3]
[4]
(5]
Le]
7]
L8]
[9]

(o]
[1]
[2]
[3]
[4]
[s5]
L6l
7]
L8]
(9]

(o]
[1]
[2]
[3]
[4]
[5]
Le]
7]
L8]
[9]

(0]
[1]
[2]
[3]
[4]
[5]
Le]
7]
L8]
[9]

(o]
[1]
[2]
[3]
[4]
(5]
L6]
7]
L8]
[9]

(o]
[1]
[2]
[3]
[4]
(5]
(6]
7]
L8l
(9]

(o]
[1]
[2]
[3]
[4]
[5]
Le]
7]
L8]
[9]

(o]
[1]
[2]
[3]
[4]
(5]
Le]
7]
L8]
[9]

(o]
[1]
[2]
[3]
[4]
(5]
Le]
7]
L8]
[9]

T |20 BIHERESENARBI.
==
= AN gk = = 0
T |3 REEEES TEET B WA o
In |4 ZBEEIGCERFES, BEUHREER. [2]
PPN 3
5. EWREFI2BAEIS. e
iﬁ $EI34s - HE R \/ [5]
- rrEs: Il BsEs: V=Rl | e
173N
[7]
S ] ] ] Lo]
—. Multiple choice questions, each carries 2 marks.
2673)
1. [A]l [B] [C]1 [D1 6. [Al [B] [C] [D]
2. [A]l [B] [C] [D1 7. [Al [BI [C] [D]
3. [Al [B] [C] [DI 8. [A]l [B] [C] [DI
4. [A]1 [B] [C]1 [D1 9. [Al [B] [C] [D]
5. [Al [Bl [C] [D]1 10. [A] [B] [C] [D]

—. Filling the blanks questions, each carries 2 marks. 4*2 marks=8. (£8%7)

11. [A] [B] [C] [D]
12. [A]l [B] [C] [D]
13. [A] [B] [C] [D]

13*2 marks=26. (85124,
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1.2%)

2.(25)

3.(2%)

4.273)

=. Short answer questions, each carries 2 marks. 12*2 marks=24. (3£24%3)
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’9. Each carries 6 marks. 3*6 marks=18. (£18%3)
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Fi. Each carries 8 marks. 3*8 marks=24. (244%3)
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